QUESTION BOOKLET

This question paper contains 170 questions. / 36 W3 1 & 1709781
All questions are compulsory. / 3} e 3R 3 |

One question carries half mark only. /S yA S RuSTa I A2 |

Maximum Marks : 85 witrean 3 - 85
Time : 2 Hours g : 2 A%
1. Which function is called complementary ?
fatafrayds Y Fgd € 7
(A) OR function/Ssrd (B) NOT function/Srd
(C) NAND function/Srd (D) AND function/S&/
2. Which provide a means to manage large amount of data efficiently ?
(A) Data collection (B) Data structure
(C) Data organisationy,. ) i nag
et B 2 1 o e e 86 0 e e @ w10 3 e & 7
(A) SaEmEm  (B) ¥FEW  (€) Bora (D) ¥ v
3. Under Dr. Y.S. Parmar Kissan Swaro2gir “Yojna the H.P. Government is
providing what percent of project assi -

g1, 9197, T fRe e s "
feperan witara aferan wEw YEA S

4. Doodh Ganga Scheme has been launched in H.P. in collaboration with
which of the following? - ~'~ ' VU5
(A) NABARD (B) World Bank

(C) Asian Development Bank (D) None of these
mmﬁgwmﬁniﬁmmtmmﬂﬂt ?

(A) rard (B) femdw %
(C) fir e &% (D) w8+ Td

5. How many villages have been identifjeq under Model Eco Village Scheme
inHP.?

fereret i & wfsen v RO S0 § it P it B v @ iR 2
(A) 10 ®) 12 ©) 14 (D) 11
S|
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10.

11,

12.

Labour courts are located .y of the following places in HP.?
(A) Shimla__ (B) Dy pala(C) Mandi_ (D) Both (A)and (B)
emreren s 3 £ 8 R R gy e o AT TR € 7

(A) fmen (B) Wiy  (C) W& (D) (A)3iR (B)A
The installed capacity of Renyyq:; pam Project will be

Tupehroht sy wiiern it :'Frﬂn;:lf?: :“qm auft -

(A) 40MW  (B) 60Mw (C) 80MW (D) 100MW

The mis?iun of Electric Vehicle Policy in HP is to achieve 100% transition
to electric vehicles by which year ?

fereer i & forgm e i 35 g 100% Frga e v 7 v e
T 91 @I TR 7

(A) 2025 (B) 2028 (C) 2030 (D) 2035

Suraj Tal lake is located in which district of HP 2 N
(A) Chamba  (B) Sirmour (C) Kinnaur (D) Lahaul — Spiti

e she e Ru S e i fRa e 7
(A) =T ' (B) ek
(C) Fe=ik (D) "mdter-wdifa

Gumma and Darang areas of Mandi district of HP are famous for which
mineral ? .

(A) Limestone (B) Slate

(C) Oil & Natural Gas (D) Rock salt
femraret w3 ) Foret & T SR <t & fovm wfe & R wRrg & 7
(A) o (B) w2

(C) wepfers & @ frw (D) wEr T

The Vedic name of river Yamuna jg -

(A) Kalindi (B) Purushnj Askini N
e (© A D) A
(A) wfed (B) T (©) R (D) PR

Mandi princely state was founded by
(A) BahuSen (B) Ajbar Sen Bir S -
WOt e Tr oY T ) ofy (C) BirSen (D) Giri Sen

(A) Wrg & (B) 3R 5

Gode No.+ CoMTRaimD . (C) T (D) e 3=

L



y3. Guru Nanak Dev visited HP in which year ?
176 T &4 3 ferarel Won R amn Rrm ad ) 2
(A) 1496 (B) 1510 (C) 1514 (D) 1519
14, Which of the following appointed Ghamand Chand of Kangra as the Deputy
Governor of Jullundur Doab and the hills between the Satluj and the Ravi 7
(A) Muhammad-Bin-Tughlaq (B) Feroz Shah Tughlaq
(C) Ahmad Shah Abdali (D) None of these
Pt 1 @ e Fime & wrieeg @) TR Qe I wag E e & wo qedd
8% W1 -1 Farged P e 2
(A) Temg-fm-gres (B) fstra vme grer E:}’“nr?
(C) eV, NG Hegreft (D) wRAFE

15. Dharvedi and Droondu are the folk dances of the people of which district of HP ?
(A) Simour  (B) Solan (C) Shimla (D) Kullu
T si g e i 3 v R & sl et e R 7
(A) frafi (B) ®&w’ (C) finren (D) ¥

16.  Dal fair is celebrated at which place in HP ?
(A) Manali (B) /Dharamshala (C) Sundemagar (D) Jogindemagar
2w Ao feaTae Wou & fiw v WA g 7

(A) wATEh (B) whmen  (C) §EM (D) =M

17. Bhima Kali temple is located at which place in HP 7
(A) Bharmour (B) Karsog (C) Sarahan (D) Kandaghat
e vt s e 0 & R Rmw fRm § 7
(AY v (B) FEM  (C) wUW (D) HiEmme

18. How many pairs of letters ar Uere in the word *METHODICAL' which
have as many letters between them in the word as in alphabet ?

(A) One (B), Two (C) Three (D) Four

'‘METHODICAL' T # Wﬂ‘msﬂlﬁﬁmﬂ e # 37 # e, Pred
R amEn i FAE TR 7

AT . (B ® C
W) S O (D) W

— —— ’ o —— e — ——T—




19.

20.

21,

21.

In a certain code ‘nit jy ,, s *orange is red”, ‘ju sa tum’ means ‘red
and black’ and ‘sa pug " ™oions ‘watch is black’ then which of the
following word is used r“fl‘l;nn-.ngc' ?
& ¥ gz wrn Nt juy g’ >1d ® ‘orange is red’, ‘ju sa tum’ P I
® red and black" 3R *sa pyg 1+ 1 3% & ‘watch is black’ 3 i1 § 8 FH
9=, “orange” 3 T 39qm fyoy man @ 7

(A) pus (B) ju (C) sa (D) mit

In the following number series, how many 7's are there which are not
Preceded by 4 but followed by 2 2

Freafeen s sen &, ¥ fiet 7 § R v 4 T R ARA TRA2R 7
34728729471357299772514723

(A) 1 (B) 3 () 4 (D) 5

From 4 to 49, how many numbers, which are divisible by 4 and sum of their
digits be 9 are

4R 49 7, et Freeh weard § <0 4 A ol § s e ST sig 9 R -
(A) 1 (B) 2 <€) 3 (D) 4

Pratap is on 13® position from the starting and on 17® position from the end
in his class. He is on 8® position from the starting and on 13® position from
the end among the students who passed. How many students failed ?

(A) 7 (B) 8
(C) 9 (D) Cannot be determined.

& e 3 YT TEIE @ 133 ®H w AR A8 F 175 wm w R ) 97 36
frenRiai & eona @ 639 TH T 3k nfelt A 139 wm w R, @ Read R

FNAVI g 7
(A) 7 (B) 8
<) 9 (D) T & foan = Wt |
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which ministry has rece

: tl :
% World Book Day ? WY launched #MyBookMyFriendCampaign on
(nginistry of Labour and Emplo
s , yment
( M{ﬂ!ﬁﬂ'}' of Skill Dﬂe!npmcm and Entreprencursh; B
(C) Ministry of Human Resource gng Developm P :
(D) None of these pment
:::ffﬂ fea w few LEIG OB #M}*HnnkMyFriendCampnign H HHATd
STRTEITSID, @ i
(€ WA (D) AT
24.  US President recently haulted funding to which of the following ?
(AY"WTO (B) WHO (C) Cuba (D) Nigeria
STt gt v e @ 3 P 3 & o s o s a2 7
(A) T=9AH. (B) =@M (C) w= (D)
25. Katerina Sakellaropoulou was recently elected as the first wo. - . .dent
of which country ? )
(A) Greece  (B) Spain (C) Finland - Y1) Netherland
hﬂmMﬁwﬂﬁﬁmi&ﬁﬁmﬁmmﬁ;ﬂm ?
(A) 1w (B) ¥ (C) ¥ (D) iRz
26. Allocation for BharatNet Programme for 2020-2] is
(A) T 5,000 crore (B) ¥ 5,500 crore(C) ¥ 6,000 crore (D) 6,500 crore
2020-21 N1 2 smm & forg st v & -
(A) T5,000%i13 (B) 25,5008 (C) 26,000%0% (D) 26,5007z
27. Which country recently abolished the prevalent corporal punishment of flogging ?
(A) Oman (B) Iran (C) Iraq (D) Saudi Arabia
for=r % & firm 3 gro A1 WA A e o =) w1 @ o whiea R w2 2
(A) v (B) ¥W (€) v (D) 54 3@
28. Gautam Buddha was born at which place 2
(A) Lumbini  (B) Umwveld  (C) gy (D) Kusinagara
v g8 1 9= fra Rm g g
(B) &=
(Ay gfrh ~ O wem (D) g
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29.

30

3l

32.

33.

34.

3s,

Codo No. ¢ C-644/2031/Series-D

The most famous Parthiqg

(A) Gondopherenes " king was (B) Kujala Kadphises

(C) Menander (D) None of these
quETd i e & -

(CY/ A= (D) T 8 &8 Tl
Founder of Lodhi dynasty i :

. yin |

(A) Sikandar Lodhi "IaWE3) Torahim Lodhi
(C) Bahlol Lodhi (D) None of these
FIYE! WTHTSR 1 WA § HeT o1 —

(A) Remad (B) wfmed () sea@aa (D) ¥ & I T

Tipu Sultan died in which French
-Anglo Mysore War?
A g i g7y Frm - Ay ga @ 58 7
(A) 1"/7e@  (B) 2/gm (C) 3/dmt (D) AL
‘Mool Nayak® was the work of which of the following ?

(A) Mahatma Gandhi (B) Dr. Rajendra Prasad
(C) Sardar Patel (D) Dr. B.R. Ambedkar

‘oot e Pt # @ feere il o 7
(A) weren i (B) 1. TR ¥
(C) W& 9w (D) 1. 931 TR
Halley's Comets reappears after how many years ?
e Hiwe qrg {4 Whe 7
(A) 56 years/™d (B), 66 years/@ (C) 76 years/¥ (D)86 years/ad
Which is not a greenhouse gas ?
(A) Carbon dioxide (B) Mecthane
(C) Chlorofluorocarbons (D) Carbon monoxide
Pt 7 2 9 o o o g Aw A @ 2
(A) TTdq g~ TS (B) W
(C) TETIRIHTEA (D) WA AANTEYS
Average salinity of ocean water (in partg per thousand) is
il T (3fm wfy gam ) ﬂlaﬂmmmﬂpg
aulied ® 40 (c) 45 (D) s0
I - e — SR\




36. Which Indian rivers do not f
(A) West flowingrivers =
(C) Both (A)and (B) (B) East flowing rivers
fre 3 @ 1 e 1@ 2 (D) None of these
T AR ?
(AY afFem st et (B)
(©) (A) 3R (B) 2w CRA s Al
| (D) 7@ A% Td
3% ?:;NEI:}L n:nnanurﬂc}ﬂus:'s minf:ll:llr:ln El;i:}élndinn State?
ﬁaﬁwmmmﬁ‘ 'Hlﬁ“ Wmﬁ? (D) Tamil Nadu
(A) ﬂﬁ%xaﬁﬁﬂm (C) = (D) wfirerrg
38. Directive Principles of State Policy are
(A) justiciable
(B) non-justiciable
(C)~Some are justiciable and some non-justiciable
(D) None of these
= it 3 P frgia § ﬁ
(A) =Iraam (B) =nfudm
(C) T T FO faH (D) ¥ & o
39, Who appoints the Finance Commission ?
(A) Parliament*® (B) Prime Minister
(C) President (D) Vice-President
fat i < P @it w2
(A) W% B) wurh  (C) T (D) 9-Teafa
40, Which is a Permanent body 7
(A) Vidhan Sabha (B) Vidhan Parishad
(C) Lok Sabho : (D)-Rajya Sabhn
ror @ 0 o e e e 8 7
(A) faurm s (B) pur e (C) @wan (D) TR E
41, Which is an example of Direct tax ?
(A) Securities Transaction T (B) Motor Vehicles Tax
(C) Electricity Duty (D) Entertoi
ﬁﬂﬂﬂﬂﬂﬂmtﬁimﬁmm&? ntertainment Tax
(A s -2 (B) amHA &

’ T "Code No, : C-644/202 Teries-D



42. The valye of escape velocit h's surface is
Y for Eart
TAh weg & R o I g 2 -

(A) 112kmis  (B) 2eligyys (C) 52km/s (D) 3.8km/s

43, Which process is used for desaingtion of sea water ?
(A) Conduction (B) Conveeijon (C) Radiation (D) Reverse Osmosis
TS <1 ) vl O & Ry R wHAa 1 3T e amm @ 7

(A) = (B) WaE © ffF@m (D) IEm-voEm

4. Which is also known as invert sugar ?

(A) Glucose  (B) Fructose (C) Maltose (D) Sucrose
o= 3 & el el b @ s s a2 7

(A) "Fm  (B) wRW = (C) Wewm (D) TN

45, Antonym of ‘Euphonious’ is *
(A) Strident (B) Lethargic (C) Literary (D) Musical

46. One word substitution for *Equal in Rank, merit or quality’ is
(AL_Zhum (B) Contemporary (C) Peer (D) Colleague

47. Everything he told me, | before.
(A) hadheard (B) heard (C) have heard (y) never heard

48, Meaning of the idiom / proverb ‘A pipe dream’ is
(A) A pleasant dream (B) A bad dream
(C) An impracticable plan (D) A foolish idea

49, ‘s w1 wf-frede R
) fm e amw (B) fra+ss (o) R+ (D) frm+ o
50, WETRRY
(A) T (B) W (C) T p) o
g1, ‘<@ W agaA
(4) e (B) d () e (D) “ra
52, -@'mmﬂ
(A) T (B),, oW © M (R Tk
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53. Which of the following is not valid built-in daqg typeinC?

PEdd C i R mewdy i 221 wam 2 ;
(A) string (B) double (C) unsigned char (D) long int

§4.  What shall be the output of the following code segment in a C program?

quﬁumﬁﬁnhftqaqgﬁgmmmm .

int x = 35;

printf ("%d", X*2);

(AL37 (B) 70 (C) 33 (D) 1225

55, What shall be the output of the following code segment in a C program ?

T C s 3 Prferfem e we o fofw @ dm
int x = 35;
Printf("%d", x » 2);
(A) 1225 (B) 140 (C) 8 (D) 17

§6. What shall be the output of the following code segment in o C program ?
& C W & freferfen g2 s @ fofn @ dm 2
union u |

char ch(2];
int 1;
} X
x.ch(0) = 3;
®.ch(l] = 2;
printf ("%d", x.i)7
(A) 515 (B) 464 €) s (D) 386

57, A macro in C is defined using —_ preprocessor directive.

CATRAN A T ey oy afonfim fasn o @

(A) f#idefine (B) #def (C) #pragma (D) #include
Code No. ; C-64472021/Serles-D




Which of the fi i : e about -
58. il :? e following Statements 15 not tru C programming

(A) Cis ageneral purpose high jevel pfugl'ﬂmmi“E language.
(B) C supports the Concepts of nions and structures.

(C) Cis notan object orienteq progroamming language.
g c d“‘:‘ ““" Ll:‘“13'13'“"1. direct manjpulation of memory content.
PR R “C* st sy 3w # B9 W AR 7
(A) ‘C'@mmﬁﬁmmmgl
(B) *C’ HgF 3N Wrar e ) yqyon A AW MR |
©) *C" T Tegwew i s
(D) *C* wif iy ¥ wrey e ) st 71 241 |
59. \:léuz?h of the following is a valid siatement to create a 2-dimensional array
'O 3 e 3 9 T o 2 TR A R S R duwE R ?
(A) int y(1() = {{1.,2}, (3.4});
(B) int y(21([1 = {({1,2}, {3,4}};
(C) int y(1(2]) = (11,2).(3,4}};
D) int yl] = ({1,2}, (3,4} };

60. How will the mathematical equation given below be written as C expression ?

_y-1

y+1
# & nfeveira et A C Rty 3 firm wem fevan smem ¢
(A) x = y=(1/y)+1i (B) X = y=-1/y+1;
(C) = =ly-1lf{?*11: (D) % © (y=1/y+1);

61, Which of the following isnota I“’ﬂpin | statement in C |
control s anguage ?
cmﬂﬁqﬁﬁﬂﬂﬁﬁmm%mmgwwﬂﬂ% ' O
(A) do...while

(C) switch...case (B) for

(D) while




¢2. Right shifting of an integer by two positions is equivalent
ent to

67.

(A) multiplication by 2 (B, divk
(C) multiplication by 4 (D) d;:iizfﬁn :yd
2 T e e Ao et

(A) 287om (B) 438wm (C) 483mm (D) 28wm

Which of the following is not a raster image format ?

s 3 A 919 W O tang wiafi @E @R ¢
9} SVG (B) TIFF (C) BMP (D) JPEG

The ﬂsmll stair-stepping of edges that occurs in an image when the
Tesnluhnn is too low is called ___ _. Anti-aliasing is the smoothing of
jagged edges in digital images by averaging the colours of the pixels at a
boundary.

(A) alinsing (B) blurring (C) cloning (DY fainting
mﬁammﬁ%,ﬂﬁmiﬁmwamw:éﬁn
_ wge R I@'memiﬁﬁﬁ%mﬁﬂﬁﬂm

3 1 & i gro T i e g |
(A) Worma  (B) g (C) e (D) %fém

What is the full form of DPI - the term used to represent image resolution ?
ots Per Inch (B) Device Peripheral Interface
(C) Data Per Instance (D) Dual Inline Package
gﬁﬁaﬂﬂﬁﬂr@mﬁtmmmmmm

ppIF g eI FIR 7 (
(A) TN (B) famyw At yehE ﬁ

(C) BTMEEH (D) TYI® e ¥

Which of the following is not a product of Adobe ?
anemuker (B]‘ Cnr:lew Wuusﬂ'ﬂlﬂl" ’ (D] Photoshop

8 o o g TG 7
(A) Tadw (B) A@¥ (€ wRxn (D) Wwn

The vertical orientation of P87 is called orientation.
(A) Landscape (B! (C) Longitude (D) Ad
v 1 vt SRR __—— SR gerren &

) dwm (B T © ey D) A

e ——

3 —Code No.: C-644/021/SeriesD



68.

69.

70.

Which register is used as a -
Work: in CPU ?
(A) Stack Pointer "king ore?

Program Counter
(C) Instruction Register -

(D) A:cumulntur(
cpuﬁﬁmrhmmmwama;ﬁiﬁmma ?

(A) RESEX  (B) S sy () PRATIR (D) s

What is the full form of RISC in context with computer architecture ?
(A) Read Interpret Solve Computing

(B) Roman Instruction Set Computer

(C) dom Instruction Set Computer

(DY Reduced Instruction Set Computer
T W H wed # RISC w i sy @ 7

(A) 1S oz i wgfin (B) I QT W T
(C) Wen fgmm ¥ wam (D) RS fRTm W+

A Solid-State Drive (SSD) uses memory intemally to store data
and provides an interface similar to a magnetic disk.

- (A) magnetic tape (B) Mash

71.

72.

(C)/ magnetic disk (D) optical
T WITTS -2 §Ed (SSD) 321 % Wenw % fom iafs = =1 3im
T R R O o e & e @ simrees yeH S R |

(A) SFfR™ (B) W (C) dodn e (D) siRww

Which of the following types of memory js volatile in nature ?

(A) Flash Memory(B) ROM (C) .RAM (D) Hard Disk
et i 4 30 @ R R A0 R R e 7

(A) ®admd  (B) UR © W (D) wfem

A database i8 @ formal deseriion of the logical structure of a
aabase. eseription © gical

(A) Achema .{B) relation
w ST U 3290 W gy o S 3 8 |
W @ w0 T

(C) cardinality (D) tuple

Code

No, : C-644/2021/Serles-D e~




74.

75.

76.

77.

(A) secondary key (B) forcign key

(C) super key O primary ke

TR TR FRE R g & o 2adm sfree® o1

(A) FFOR  (B) s D () A (D) WA

In relational algebra, if the symbol >« represents the join operation,
| re:resents the select operation and @ is a predicate then for the relations
rands:

Hauts drafear #, aft vt o« drs wfmm w1 sfififas =@ R, o g7 wfiF
w1 whifafura % R 3k 0 o Fufes R, & r 3k s wevi & fog @ -

(A) raBs=cB(r)waob(s) (B) reaBs=08(r)nob(s)
(CrraBs=a00(r)-o00(s) (D) reaBs=00(rxs)

Which of the following constraints in a database table is used to create a
candidate key ?

foreign key (B) notnull (C) unique (D) check
gﬂﬂmhﬁmﬂ%mimmﬁ%ﬂ@mmtm

Iam fore ama & 7
(A) AR (B) Alz7E (C) g D) %

What does BLOB mean in context with database table column type ?

(A) Byte Laden Object (B) Binary Large Object

(C)- Bit Length Object (D) Big Length Object
aToft e wa & §aY  BLOB w1 7 ol @ 7

(A) |Tge A e (B) argAft o e

(C) fire vy e (D) fom S wieiw

A superkey is said to be & —___ key if no proper subset of it is a

superke
(A) fdreign (B) secondary (C) altemate  (D)—candidate

mwﬁ_ﬁwﬁuﬁmﬁiwmmwﬂwm
@ o B o) (D) #RE

_..-"""""-..___-__

' Code No. : C-644/2021/5eriesD



8. A_____isa Séquence of daghase operations that appear as a single

19-

nl-

82.

Code No. : C-644/1021/Series-D 16—

indivisible unit to the user,

(A) script (BL-fropr, (C) function (D) transaction
o ST ST 1t g , S AR 8 s i 57
&9 H welta g |

(A) fafy (B) Wmm (€) T+ (D) ®FIEA

Which of the following is correct 2

(A) SuperKey < Candidate Key < Primary Key

(B) Primary Key < Super Key < Candidate Key

ﬂ E:n;u;yu Key ¢ Candidate Key = Super Key

ndidate Key = Pri

ST P —— a":nmw et

(A) A cHRRRNcumiH (B) TwlH cTRA cHFHERH
€) TR cIFRTHRcguH (D) FRRHc AR cTRNR

Which of the following clauses in SQL SELECT statements is used to filter
the resultant rows of the query as per the given condition ?

SQL SELECT ut # fr=t i @ 11 @ ==ifa = 3wiim @ 7 wffeufadi & srgam
o ) chomd A W et sa S T sam a2 7

(A) FROM (B) ORDERBY (C) WHERE (D) GROUP BY

Which of the following SQL statemenits is used t@ rena table col ?
T AT e & 99 THaR & forg P 7 @ fFa SQL s9n w1 3wm gen 7

(A) UPDATE TABLE (B)ALTER TABLE
(C) TRUNCATE TABLE (D) CHANGE TABLE
Which of the following is a DDL SQL command 7
fadaw s DDL SQL ?

(A) INSERT  (B) UPEATE (C) DELETE  (D);ALTER,

Which of the following is the correc SQL statement to delete a daabase
table ?

o Zon gt & RER S P iy g m sQL s wmiR 7

(A) DROP TABLE <table_name> (g) DESTROY TABLE <table_name>
(6" DELETE TABLE <wble_name> ()  DELETE FROM <table_name>




g4. XOR operation on two equal inputs will always result in

(A) half the number (B) twice the number
(€) zero (D)same number
ﬁmagﬁm XOR SFITeH 1 wftom 3 @ —
SO (D) w9 e

85.

86.

87.

If (M base x number system) is equal to (64), (in base y number

system), then possible values of x and y are
g, (84), (in base x number system) SR , (64), (in base y number system)

FRxdMyFowRmamE -
(A) 12,16 (B) 12,14 (C) 14,16 (D) 8,12

(0.25), in binary number systerm is
(0.25), o T e fereem R
(A) (0.1)y [EL, (0.01), (C) (0.001), (D) (0.0001),

The.BCD equivalent of the nurebar (62)y is
HE@N (62),0 T BCDTRHR

(Ay(01100010)ge0 (B) (10100110),,,
(C) (00100110)gep (D) (01000011)ge, |
Which of the following logic gates are known as universal gates ?

(A) AND, OR (B)“NAND and NOR

(C) AND, OR and NOT (D) XOR and NOR

ey i @ Pt e gl Y ST G 6 %9 3 v e R 2 ﬁ

(A) AND, OR (B) NAND 3t NOR
(C) AND, OR ¥t NOT (D) XOR 3 NOR

Which of the following symbols represents the NAND gate in a digital
circuit ?
e FeRreen ey Fre i & 9V ¥ % g NAND gr a wiwftres @ 7

A
(A) ::D’—" (B) n:“>_“'
A — A

__.-_“"""--—_

1
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90,

91.

92.

93.

The hexadecimal represenyyion of (64)4 is

(64),, 1 drzn FTETh Fregy 3 -

(A) (36)4 (B) (30, (C) (40)y6 (D) (32)6 -
Which of the following datg syructures consists of root and leaves ?

(A) queue (B) stack (C) tree (D) graph
foidshdisnamn s yirdeafaie ?

(A) (B) V% ) @ (D) %

A is a graph without any cycle.

(A) _queue (B)y dequeue (C_{ digraph {D} tree

T T weh TRa MG # |

(A) 7 (B) ¥w (C) =TS D) @

A function t (n) is said to be in if t (n) is bounded both above and
below by some positive constant multiples of g(n) for all large n.

T W 1(n) # Fgemem, R (n) T 2 n F T g(n) F FO TS
fRr i d Fw sk AR afmd

(AL O@®n)  (B) M) (C) Agm) (D) gm)

94. A/An variable is created when the declaration is executed for the
first time and destroyed when the pro terminates.
(A) register (B) auto ) static (D) local
" T IGH §i 8, T4 g waw 9w fFefiea @i & st S e
B AR @ A R
(A) TR (B) ¥ (C) wfew (D) ®iF

95. A 15 a linear data structure in which elements can be added or
removed at either end but not in the middle.
(A) graph (B) dequeue  (C)Alack (D) queue
Lo 0 e 321 Hew R, vl awa @) el ) ot @ S ot wer
N W @ Afeea e § & Tl |
(A) T (B) famy (C) V% (D) =

96. traversal of a Bllllﬂl'jl' Se;u-c ree always result in a sorted |}
(A) !'nsmrd;% (B) Outorder h{T'_c'y'?lnurzﬂ (D) Prcur:ll::.
“ﬁqﬁ“ﬂ AW ST o O O o B @ |
(A) MR- (B) IR-3th () @-3EK (D) R-witk

Code No. : C-644/2011/Serles-D T ———



97.

95.

100.

101.

A full binary tree (with root at level 0) of height h has number of
nodes.

e ot Faammarl ) (7t 0 ¥ W RY) R Fad h 2 3 Argm Hi ven Bt @
(a) 2! (B), 2"~} (€ 27+1.1 (D) 2"}

what shall be the in-order traversal of the following tree ?
fre ) 1§ - AT T T g 7

&

(A) DGBAHEICF (B) DBGAEHIFC (C) ACBDFEGIH(D) ABCDEFGHI

Selection sort is applied on a given sequence : 89, 45, 68, 90, 29, 34, 17.
What is the sequence after 2 iterations ?

ﬁqmmmwmmmm 89, 45, 68, 90,29, 34, 17

2 A ¥ 4G R R 7
(A) 68,90,17,29,45, 34,89 (B) 68,90,89,45,629,34,17
(C) 17,29, 90, 45, 68, 34, 89 (D) 17,29, 68,90, 45, 34, 89

What type of memory is directly available to the CPU and is often part of

the CPU ? '
(A) Virtual Memory (B) Register memory
(C} ROM (D) RAM

cmaﬁm;ﬁ:mﬂnﬁﬂﬂﬂmﬂ?ﬂisﬂtmcmmﬁmﬁﬁ%?
(A)_mm it () ReEI (C) Tm D) W

Jeff Bezos is the founder of which ofthe following companies ?

B) Google  (C) M
O o ot ey oot (B) Yahoo

(A) (B) T ©) "wwmie (D) g

_-‘_-—I-i.“"‘-_.___
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102.

103.

104.

106.

Codo No. t C-644/2021/Series-D B

Which of the following is , popular voice assistant developed by Microsoft ?
(A) Cortana.  (B) Tene, (C) Alexa (D) Siri
ARG g1 AR O Wiy afqw S AE A A B aTe ?

(A) =rem (B) Mz (C) W (D) Hift

A is a special functiop of a class which is automatically executed
When a new object of that clasg js created. ‘
(A) Finalizer (B) Static (C)Constructor (D) Final

Lo T T8 o Fadg werd R, N T@: Pronfi @ @ @ 9 e
T s g WS RN IR E )

(A) stEHR (B) #fRs (C) =¥ (D) wiEe

In Java, the process of automatic reclaiming the memory allocated to
unreferenced objects is called

(A) JIT (B) bytecode

(C) garbage collection (D) JVM

e #, Al ) aw o 6 whea, 9 Rl sEehfn o @ omefea A o A,
wge f

(A) NT (B) _FR#E  (C) M FEA (D) JVM

The ability of an OOP language to define multiple methods with same name
and different parameters in the same class is called

inheritance (B) method overloading
(C) method overriding (D) abstraction
T § W # A AW T il s & e age fiftdt @ ghonfe w0 @
T OOP W91 B & Hgerd f

(A) s (B) it sftaro () feft sftmem (D) s

What will be the value of the formylg =LARGE(A1:E2,2 ,
duta in MS Excel worksheet: o ( ) in the following

MS Excel wdhufiz i fire 321 it q SLARGE(A1:E2,2) %1 59 &1 ¥vmy 7
AlBICID|E
1171214812

= e

2/1|6|1]5]8
3'.
(A) 11 (B) 16

(C) 3 D) 8




107. What shall be the value retumed by the following MS Excel formula ?

f=t MS Excel 3 810 01 913 Wg gy
~FLOOR (111, 3)
(A) 115 (B) 110 © 111 (D) 112

108. Which of the t.'ﬂ“ﬂ“'iﬂﬂ transmission media works on the principle of total
internal reflection ?

(A) Coaxial Cable (R)-Optical Fibre

(C) Twisted Pair Cable (D) Radio Transmission

ot 3 R B 1 WO wvem quf s v R wEd s R 2
(A) BT FEH (B) Wi HTEat

(C) =mafita qm Fuaw (D) R werm

109. Which of the following layers accept services from network layer and
provides services to session layer ?
(A) Fransport  (B) Physical  (C) Application (D) Data link
e 7 R w, Yead TR I w5 R AT TR e e & 7

(A) fEEr (B) wiftw (C) wgwam (D) & fow

110. are the addresses used by the transport layer m the TCP/IP protocol suite.
(A) Ports (B) IP Address
(C)_Ffame Address (D) MAC Address

TCP/IP Srereter qe & wiawn W g W fog o ame vifve §
(A) W@ (B) SR @ (C) WMPE (D) w@w

111, rovides reliable connection-oriented delivery of packets.
el wr | f:m:m v st fw m d
(A) TCP “B) IP
(C) Network Lny:rﬁ!ﬂ* Ll (D) UDP

112. The high order bits of the first 0ci¢t ofa clasg B [P address are always

o TR B P T % W S I T frgm wivn g
(A) 01 (B) 11 €) 10 (D) 00

113, The internet layer of TCP/IP model is gimitar to layer of OSI model.
(A) I#Eﬂiﬂ# ] (B) nppliﬂﬂ;m lCJ network (D) transport

TCP/IP Wiem #) fevie wre OSI TS0 | meswmead

(A) ¥ (B) TR (C) Ik (D) Zhwivé
— R ——
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114. HTTP is an example of layer protocol.

(A) session  (B) netwgy,  (C)dpplication (D) transport
HTTP T Tl vz el R |

(A) qm (B) I (C) vefham (D) gEwre

115. What is the well-known TCP port on which a web server listens ?

R 5t TCP WK R wF Ja wh g @ -

K) 80 (B) 21 () 9 (D) 23
116. What is the recommend maximum length of UTP CAT 6 cable ?

UTP CAT 6 %=e ) araitr atfireem evam wn @ 7.

(A) 90m (B)_40b m (C) 84m (D) 112m

117, Which of the following IPv4 address series is reserved by IANA for private
use ?

ﬁqﬂﬂmmnmmmlmammmasmwm
(A) 177.94.0.0016 (B) 72.68.0.0/16
(€)_192.168.0.0/16 (D) 16.24.0.0/16

118. GSM, S and LTE are the types of

(AY Cellular technologies (B) Optical fibre technologies

(C) Wi-Fi technologies (D) Bluetooth technologies
GSM,UMTS MRLTE &=

(A) Hege aow (B) Wi wrge wats
(C) am§-wm Wl (D) =N T

119. POP and IMAP protocols are used in service,

irmiponﬂumﬂ’lz’mamrmﬁmt |
A/E-mail (B) IP Telephony /IP et
(C) Instant Messaging/mftm sy (D) www

120, Which of the following organizqi ; - .
addresses in a fair and consig| ationg oversces the allocation of public 1p

- SNt manper 7
et & & = o s ke pp :
T W § 7 TR o =R o R iz i

(W'Wic (B) IETF
Code No. : C-64471021/Series-D

(C) IANA (D) IEEEE
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121

122

which of the following i _
system ? B 15 mot an essential component of a communication
(A) Encryption (B) Receijv

e A AR R e e i

(A) T (B) afam&  (C) s (D) ==
which of the following i . .
hold simultaneously ]fli‘:E ;sdr::iu!ﬁnewnr lh:r.:s'f“ ik S S ot et
(A) Context switch 1 (B) [\r;utual exclusion
(C) Circular wait (D) Hold and wait
. ﬁnﬁﬁﬂﬂi@ﬁ%fﬁqﬁqi%aﬂ:ﬁmﬁ%@ﬁdﬂ?ﬂ%ﬁﬂm
A AEEF R ?
(A) & = By TrEitEs A9aH
(C) e welvEn (D) Gww R Seten
Which of the following CPU scheduling algorithm may lead to the

123.

124.

125. Which of the follo

starvation of processes which will require a long time to complete ?
(B) Shortest Job Next

(A) Round Robin
(DLAAIl of the above

(C) First Come First Serve
ﬁﬂﬁﬂﬁHCPUWﬂmﬁmﬁﬂﬁﬂmmﬁmﬁﬁ@mﬁ%ﬁq

=23 g ) ArEEHd B 7
' (B) o1 Tum %

A/An is said to have occurred if the memory page that a process
needs to access is not available in main memory.
foult  (C) deadlock (D) hit

(A) exception (B) page
T uﬂagmﬁﬁmﬂm.ﬂﬁw:mﬁam&aﬂmﬁﬂh

mmﬁ.a&wﬂuﬂiﬂmh
(A) F9ER (B) Wa" (C) nferig (D) ¥

wing is the built-in web browser for MacOS ?

(A) Edge (B) Safari __ (C) Chr :
PR A YRR MacOS 3 fore 3 3 ma:t;e? (D) Firefox

A B). -4l

A { —----El Ll (D) FER G




126.

127.

128.

129.

130.

131.

132.

What is the Linux commgpg to list the information about the runnin
Processes 7

T, 551 ) GEAIHA! B e Ay w3 F Fore eivgam aaRA TR 7
(A) ps (B) lsp ©) 1Is (D) Ip

What is the Linux commang to change the permissions of a file ?

T BTt ot rufodi Y Ter) o cmga e anrem R 7
(A) chperm (B) perm (C) chmod (D) fstab

Which of the following is a popular GULLi i 2
pular inux Desktop Environment ?
P 3 & 5 v i Gu wTEAad 356 2 A R 7

(8Y'GNOME (B) GIST (C) GIMP (D) GREP
Which of the following is not an essential function of an operating system ?
(A) CPU Scheduling (B) Memory Management
€0)~Database Management (D) Input / Output Management
=1 % @ 9 1w v v e TR T R 7

(A) CPU rggfeim (B) Aml weam

(C) BerEw weaw (D) Fan/fr yEwm

Which of the following programming languages is designed by Guido Va

Rossum ?
TR T w1 P 3 @ N shmfim v ) Ry R 2

(A) C++ (B) Java (C) Python (D) PHP

The requirement of portability for a software is an example of
requirement.

(A redundant  (B) functional (C) non-functional (D) casual

T Hieaat & T game B S o TSI 1 I R |

(A) wRfm  (B) woH (C) e (D) fwfm

Which one of the following is NOT gesirable in a good SRS document ?
(A) Functional requirements

@37 Non-functional requiremens

(C) Algorithms for software jm tion

(D) Goals of implementation Plementat

% 3o SRS YU B A gy o o ifi AR 7
(A) WeRTHiFwE STy TB) TR HTETIHY
(C) mmﬁﬁqw (D) Frata & f weg

Code No. ! C-644/2021/Serles-D ™~ __ B @ e
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The stages of software develo : : ;2o s
133 model for software devﬂ?sxeﬁe Cycle are carried out sequentially 1D

materfall (B) spiral (©) iterativ (D) asil
€ c
g RFEE o gteq & gieam £ - G

(A) eI {B} L2 LG | Q A @) T

, The Eﬂﬂl ofthe ____ attack is to make a network or a system unavailable to
legitimatc users.
(A) SPAM (B) Denial of Service
HE;%Aliuﬂsnmtwmne: (D) Phishing
IqATRAT B T Jeah it U @9 ) AT T ek
AF AR |
O]
(A) =W - B) TP =5
(C) Fawam (D) Fsfem '

135. A is a self-contained and independent malware that is designed to

replicate itself.
(B}~ worm (C) bacteria (D) virus

(A) trojan :
ﬁmwmmmm#mﬁmtmmm

T R
(A) FF (B) (€) @ (D) W
use af two keys (public key, private key) and is

136. cryptography make g
also known as public key cryplography. |
(B} Asymmetric

(A) Symmetric (D) Substitutional
(C) Transposiion, o (ofees 9, T3z ) w1 v et @ 3 e

@l’é@‘lﬂ#mﬁmmﬁ%l |

(A) auf@ () waut@  (C) v (D) whream
137. A is a network security 4¢Vi¢€ that allows or blocks the incoming and
outgoing network traffic based 0N 8 defined seq of security rules.

Wﬁfﬂw'ﬂu (B) router (C) gatewa {D) NAS
e e & = T O e o 3, e e e

ST 3 ek ) st I R R
A) HREETE
*) e _ 9w (D) NAS

3 RS
Code Na_ - C.63a12021/5eriesD




138. A machine associates yn output symbol with cae h time
a state is entered, an output is gbtained simultaneously, h state and eac

¢(X) Turing (B) Moore (C) Mealy D) Ehomeky
b T 132 Rt ) ks e s e S
W S A G R Al R T TR MW B
(A) T (B) W (C) s D) il
139. What is the full form of AJAX in context with the wep application ?
¥ weelidem & wf H AJAX i sg a7 '

(A) Anonymous JavaScript and XML
(B} Asynchronous JavaScript and XML
(C) Autonomous JavaScript and XML
(D) Annotated JavaScript and XML

140. What is the HTML entity for “&" symbol ?

“&" wefteh % forg HTML tR 70 & 2
JA) sampersand; (B) &am:
Oy &amp; (D) sand;

141. Which of the following is the right HTML element for creating a list with
small Roman numbering ?

1A T HEEA A U g N & fore e § @ S wre@ HTML seaad 7
<oL appearance="i"», 6 ¢/oL>

(B) <oL href="i">...</oL>

(C) <oL style="i">...</oL>

(D) <oL type="i">... </q1>

2 e s to e e § ts creates a button that sets all
14 the form elements to their defauhi:::l:;e;nen

=t & ¥ A HTML 9%
ﬁmmmmmmﬂf@mmmﬁ.ﬁwmm

(5Y <input type='regey.,
(C) <input tyPe="undqn,

E:'oﬁﬁ;' : C-644/2021/Series-D ‘\\(
st 16

(By\/cinput type="default">
D) <input type="clear"?

—
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143

1

145.

146,

147.

148.

gow will you create an interna| cascadin

(€) Using <script> elemen (Msing <style> elef:enl? e

39 31 3 S % S0 S e e e s g 0 2
(A) <link> 399 % I94m § (B) Im & wge o & IwEm A
(C) <script> 3aUd & Ivdm (D) <style> 3a@a & IwM A

"l:‘u'hic'l:i of the following attributes of the <form> element must be set (0
multipart/form-data” in order to upload a file ?

Wmﬂmﬂﬂiﬂiﬁ'ﬂﬁﬂﬁﬁcfﬂmrmﬁﬁmﬂ?ﬂﬂ
“multipart/form-data” 7t fa 1 1w 8 7

(A) action (E,]/e“‘w (C) method (D) encoding

A is a small piece of text data stored by the web server on the clinet

compuler,

(.Ar)/“mlnkie (B) session (C) crumb (D) token
& et BT T A T 2R B w1 v g

(A) FTh (B) dWA (C) w= (D)

The HTTP response status code _____ indicates that the request has

succeeded.

HTTP arfran fufd g2 zatm § s 330w we g |
(A) 400 (B) 401 (C) 404 (D) 200

In the HTML element defined a8’
aft HTML 3rga g S Tremen
<a href = "http://ww¥:¥¥Z.com"> Visit Site </a>

is an attribute.

wEIA R |

(A) o (BY” http://www.xyz.com
(Q)href (D) Visit Site

Which of the following HTM!— lags require | .
e o | fivm HTMLaﬂﬁW . hﬁ“mﬂlchml ':;;';E;ﬂﬂ?

(A) <a> B) <br?
b L"‘\'EL‘L‘PW’ (D) <link>
Code No. : c-munmsi"ﬂu-n



{49. Which of the following is the lowest level heading tag in HTML ?
HTML # = # & #1791 Freomm w0 w oind (@fem) R 2

(AL<hl> (B) <h7> (C) <nho> (D) <hé>

Which of the following CSS propertics is used to set space petween the
content and the border of an clement ?

(A)margn  (B) spacing  (C) padding (D) gutter

frer 8 & ¥ ¥ CSS ol T ITEM OF 999 & R i sinde % A

AW REAFEE 7
(A) milr . (B) |fm (C) ¥fEm (D) T

150.

Which of the following languages is mainly used as scripting language in
HTML documents ?
HTML werai & fi= # A fre wmo &1 wom yore: Rfm v S swd@m @ 7

(A) FORTRAN (B) Python (C) Java @/Javasmpl

182. Which of the following type of CSS is most suitable for applying same

styles to all the webpages of a website ?
(A) inherited  (B) intemal (C) external (R)~inline

i # & fFE WA W1 CSS T Ygume % ot 39 991 W FENH RiEd $3 $
R aad IF R 7
(A) s (B) ¥mfes  (C) @

(D) &

153. Mini computers are the

(A)._shulti-user system (B) multi-processor system

(&F single-user system (D) None of these

fir et € -

(A) WEITGIEN ST (B) 8- SOTER
=IO

(C) T ) il @ P TE

e G e
Cod? %
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155,

156.

157.

ich is not a data processing functions of a computer ?

(A) Gathering data
B) Processing data into information

(©) Ana!ysing the data or information
(D) Storing the data or information &

ﬁﬂﬁ%ﬂf"'mwﬁlﬁ%ﬂwmq@g?
(A) 3T EFH (B) 21 @ g i WA
() ¥ @ g 1 faveaw (D) T G T WS

Which device is used for entering x-Y co-ordinates ?
(AyKeyboard  (B) (ard reader (€ Aoystick (D) Allof these

x—yﬁﬁﬁﬁﬁmm%mmgﬁmmﬁNmﬂ ?
(A) R-d  (B) FEI (C) Fufews (D) TWER

Which of the following is hillionth of a second ?
(A)Gigabyte  (B) . Terabyte (C) Nanosecond (D) Microsecond

o e w1 fuftral 8
@) rmamw  (©) Mawwg (D) WEH HOS

(A) ThmaTge

The method used for the conversion of decimal to any other number system
is often called

(AY decimal method (B) octal method

(C) remainder method (D) binary method
e i weer 8 v 83 areh fafe OV AT B =

ZYTHETE Y N T
) ey (8) s (C) mffy (D) Romud fafy
Addition of (101), and (110); i8

(101), 3k (110), T 5 & -
{A*,:F(mn): (B) ([DII);: (€) (111), (D) (110),

A virus that migrates freely within @ large population of unouthorized ¢-mail

user is called o
(A) macro (B) Avorm (C) frame war (D).-None of thesé

# : \
sk by e T e f g 9 @ e o
(A) #m) (B) W (C) #mum (D) ﬂﬁﬂlﬁ'ﬂ

T
-

! I
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160. Which is the process of finding errors in software code ?

161.

162.

(A) Compiling (B) Runnitg  (Cy pepygping (D) Testing
M@ﬁgﬁﬁﬂmﬁMﬁqﬁ%ﬁqm%?

(A) Fer (B)_Srew €) sl (D) whaw
Which of the following error will be handjeg by the operating 9
(A) Power failure (B) Lack of in prin: ot

(C) Connection failure in the network(D) All of these
=1 8§ @ o ot gt vaem dE g e R IR

(A) foega fawea (B) T 1 Im £ =t

(C) “eash & S favweran (D)-T& wft

In MS-Windows, the recycle bin stores deleted items until

(A) another user logs on (B) the computer is shutdown
(C) the end of the day (D) you empty it

MS-Windows i etz $t 7 71 B frarsfee i 30 v o elRa a2 -
(A) gE INiTT & AI-§A 0% (B) FR I 92 FA 76
(C) fm o (D)%% Grelt 50 7%

163. In MS-Word, what is the smallest and largest font size available in font size

too!l on formatting toolbar ?
MS-Word % BRATST TAER W Iyeten Hie Vg gt § §99 931 3K 992 oy
e GIEH 1R ? Wy

(A 8and/3R 72 (B) 8 and/sik 64 (C) 12 and/3K 72 (D) 16 and/37k 64

164. All the following terms are related 1o spreadsheet software except

(A) worksheet (B) cell (C) formula D) work
Py 8 o o See R g 2, R %
(A) el (B) #wm ©) @ (D) sHAg

165. In MS-PowerPoint, what are yp,, symbols used to identify an items in Jist 2

(A) Icons . (B) Markey 9 Bullets (D) Graphics




the follow;i
ich ﬂf . Ing meﬂns
46, Wh .;aI'I.SI?lEnI and l'auf:li:ll:ole'?that the data contgined in a database is

Da
(A) pata | [.B)/D:Ila fedundancy

D

ATETH]
(A) 0 (B) Sa aifiitermn (C) SO¥mm (D) 398 A H A4

7. The command center of access file that
MS Access Database file at appears when you create or open the

(A) Database Window (B) Query Window

(C)-Design view Window (D) Switchboard

o9 39 UH.UH. TR 3230 G H) G T 391 0 8 1 O w5 &
TR e el B ], SRR~ |

(A) Todu iR (B) wif=R Q%é.ﬁ‘

©) frmie (D) feawErs /)

68. Which of the following communication modes medium support two-way
traffic but in one direction at a time ?

(A) Simplex B Half-duplex
(C) Three quarters duplex (D) Full duplex }
ﬁniﬁ#mﬁm%ﬂﬂ%ﬁ.ﬂ@mnma&mq ?
(A) faraa (B) 3-ZTTW
() Fraguin <1 (D) T g
169. When displaying a web page, the application layer uses which protocol ?
HTTP (B) FTP (C) SMTP (D) All of these
mmhhmmﬂ.ﬁmmmMmmm& ?
(A) HTTP (B) FTP (C) SMTP (D) e
170. Data security threats include N7
(A) hardware failure (B) ;;“ﬂc}r invasion
(C) fraudulent manipulation of data (DY All of these
1 T ST e 8 -
(A) ®réam frweran (B) P wu s
(C) ¥ T et R (D) TEwmh
___-_-*-—--—A-

g

—— ___q_..,..-—-"""_—-"'-' ) I
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